STARLIKENESS AND UNIVALENCE CRITERION FOR NON-LINEAR OPERATORS

M. ESHAGHI GORDJI, A. EBADIAN, R. AGHALARY and M. DARUS

In this paper we investigate the starlikness and univalence of certain integral operators, considering the class of univalent functions defined by the condition $\left|\frac{z^2 f'(z)}{f^2(z)} - 1\right| < \lambda, |z| < 1$, where $f(z) = z + a_2 z^2 + \cdots$ is analytic in the unit disc $U = \{z \in \mathbb{C} : |z| < 1\}.$

AMS 2010 Subject Classification: 30C45, 30C80.

Key words: starlikeness, univalence, subordination, Komatu integral operator.

1. INTRODUCTION AND PRELIMINARIES

Let \mathcal{A} denote the class of analytic functions f(z) normalized by

(1.1)
$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k$$

in the unit disk $U = \{z \in \mathbb{C} : |z| < 1\}$. Denote by S the subclass of \mathcal{A} consisting of functions which are univalent. Given $\alpha < 1$, a function $f \in \mathcal{A}$ is called starlike of order α , denote by $S^*(\alpha)$, if and only if $\operatorname{Re}(zf'(z)/f(z)) > \alpha$. A function $f \in \mathcal{A}$ is said convex of order α , denote by $K(\alpha)$, if and only if $zf'(z) \in S^*(\alpha)$. In particular, the classes $S^*(0) = S^*$ and K(0) = K are the well-known classes of starlike and convex functions in U, respectively. In 1990 Komatu [2] introduced a integral operator

(1.2)
$$L_a^{\lambda} f(z) = \frac{a^{\lambda}}{\Gamma(\lambda)} \int_0^1 t^{a-2} \left(\log \frac{1}{t}\right)^{\lambda-1} f(tz) dt$$

 $z \in U$, a > 0, $\lambda \ge 0$, $f(z) \in \mathcal{A}$. Thus, if $f(z) \in \mathcal{A}$ is of the form (1.1), it is easily seen from (1.2) that

(1.3)
$$L_a^{\lambda} f(z) = z + \sum_{n=2}^{\infty} \left(\frac{a}{a+n-1} \right)^{\lambda} a_n z^n, \quad a > 0, \ \lambda \ge 0.$$

MATH. REPORTS 13(63), 2 (2011), 141-149

We now define a function $L_a^{\lambda}(z)$ by

(1.4)
$$L_a^{\lambda}(z) = 1 + \sum_{n=1}^{\infty} \left(\frac{a}{a+n}\right)^{\lambda} z^n, \quad a > 0, \ \lambda \ge 0.$$

Using the above relation, it is easy to verify that

$$L_a^{\lambda} f(z) = z L_a^{\lambda}(z) * f(z),$$

and

(1.5)
$$z(L_a^{\lambda+1}(z))' = aL_a^{\lambda}(z) - aL_a^{\lambda+1}(z).$$

Let V(m) denote the class of all functions $f \in \mathcal{A}$ satisfying the condition

(1.6)
$$\left| \left(\frac{z}{f(z)} \right)^2 f'(z) - 1 \right| < m, \quad z \in U, \ 0 < m \le 1.$$

We set V(1) = V. We remark that from $f \in V(m)$ it follows that $\frac{f(z)}{z} \neq 0$ for $z \in U$. It is well-known that $V \subset S$ (see [4]) and so, for $0 \leq m \leq 1$ one has $V(m) \subset S$.

For proving our results we need the following lemmas.

LEMMA 1.1 ([1]). Let h(z) be analytic and convex univalent in the unit disk U with h(0) = 1. Also let

$$g(z) = 1 + b_1 z + b_2 z^2 + \cdots$$

be analytic in U. If

(1.7)
$$g(z) + \frac{zg'(z)}{c} \prec h(z), \quad z \in \mathbb{U}, \ c \neq 0,$$

then

(1.8)
$$g(z) \prec \psi(z) = \frac{c}{z^c} \int_0^z t^{c-1} h(t) dt \prec h(z), \quad z \in U, \ \Re(c) \ge 0, \ c \ne 0.$$

and $\psi(z)$ is the best dominant of (1.7) [7].

LEMMA 1.2 ([8]). If f, g are analytic and F, G are convex functions such that $f \prec F, g \prec G$, then $f * g \prec F * G$.

LEMMA 1.3 ([9]). Assume $a_1 = 1$ and $a_n \ge 0$ for $n \ge 2$, such that $\{a_n\}$ is a convex decreasing sequence, i.e.,

 $a_n - 2a_{n+1} + a_{n+2} \ge 0$ and $a_{n+1} - a_{n+2} \ge 0$ for all $n \in \mathbb{N}$.

Then

$$\operatorname{Re}\left\{\sum_{n=1}^{\infty} a_n z^{n-1}\right\} > \frac{1}{2} \quad \text{for all } z \in U.$$

LEMMA 1.4. If a > 0 and $\lambda \ge 0$, then $\operatorname{Re}\{L_a^{\lambda}(z)\} > \frac{1}{2}$ for all $z \in U$.

Proof. From the definition of $L_a^{\lambda}(z)$ we have

$$L_a^{\lambda}(z) = 1 + \sum_{n=2}^{\infty} \left(\frac{a}{a+n-1}\right)^{\lambda} z^{n-1} := 1 + \sum_{n=2}^{\infty} B_n z^{n-1}$$

Since λ and a are positive, we have $B_n > 0$ for all $n \ge 2$. We can easily find that

$$B_{n+1} - B_{n+2} = \left(\frac{a}{a+n}\right)^{\lambda} - \left(\frac{a}{a+n+1}\right)^{\lambda} = a^{\lambda} \frac{(a+n+1)^{\lambda} - (a+n)^{\lambda}}{(a+n)^{\lambda}(a+n+1)^{\lambda}} \ge 0,$$

for all $n \ge 2$.

Also,

$$B_n - 2B_{n+1} + B_{n+2} =$$

= $a^{\lambda} \frac{((a+n)(a+n+1))^{\lambda} - 2((a+n)^2 - 1)^{\lambda} + ((a+n)(a+n-1))^{\lambda}}{(a+n-1)^{\lambda}(a+n+1)^{\lambda}}.$

Suppose x = a + n, and

$$f(x) = (x(x+1))^{\lambda} - 2(x^2 - 1))^{\lambda} + (x(x-1))^{\lambda}.$$

From the assumption we have x > 1. For proving $B_n - 2B_{n+1} + B_{n+2} \ge 0$ it is sufficient to show that $f(x) \ge 0$ for x > 1. But it is equivalent with

$$\left(\frac{x}{x-1}\right)^{\lambda} + \left(\frac{x}{x+1}\right)^{\lambda} \ge 2, \quad x > 1.$$

Let

$$g(x) = \left(\frac{x}{x-1}\right)^{\lambda} + \left(\frac{x}{x+1}\right)^{\lambda}.$$

Then we have

$$g'(x) = \lambda x^{\lambda - 1} \left(\frac{-(x+1)^{\lambda + 1} + (x-1)^{\lambda + 1}}{(x-1)^{\lambda + 1}(x+1)^{\lambda + 1}} \right),$$

which is negative for all x > 1. Therefore, g(x) is a decreasing function and takes its minimum value equal to 2 at infinity. Hence $g(x) \ge 2$ for all x > 1, and from Lemma 1.3 we get our result. \Box

LEMMA 1.5 ([5]). If $f \in V(m)$, $d := |f''(0)|/2 \le 1$ and $0 \le m \le \frac{\sqrt{2-d^2}-2}{2}$, then $f \in S^*$.

LEMMA 1.6 ([7]). If $f(z) = z + a_{n+1}z^{n+1} + \cdots (n \ge 2)$ belongs to V(m)and n = 1

$$0 \le m \le \frac{n-1}{\sqrt{(n-1)^2+1}},$$

then $f \in S^*$.

2. MAIN RESULTS

We now start our first result beginning with

THEOREM 2.1. Let a > 0, $\lambda \ge 0$ and $f \in V(m)$ satisfy the condition

$$\left(\frac{z}{f(z)}\right) * L_a^{\lambda+1}(z) \neq 0, \quad \forall z \in U,$$

and G be the transform defined by

$$G(z) = \frac{z}{(z/f(z)) * L_a^{\lambda+1}(z)}, \quad z \in U.$$

Further, let c be a nonnegative real number such that $c = \left| \left(\frac{a}{a+1} \right)^{\lambda+1} \frac{f''(0)}{2} \right| \le 1$. Then we have the following

Then we have the following (1) $G \in V\left(\frac{am}{a+2}\right)$; (2) $G \in S^*$, whenever $0 < m \le \frac{a+2}{2a} \left(\sqrt{2-c^2}-c\right)$.

Proof. From the definition of G we obtain

$$\frac{z}{G(z)} = \frac{z}{f(z)} * L_a^{\lambda+1}(z).$$

Differentiating $\frac{z}{G(z)}$ we get that

(2.1)
$$z\left(\frac{z}{G(z)}\right)' = \frac{z}{G(z)} - \left(\frac{z}{G(z)}\right)^2 G'(z).$$

It is easy to see that

(2.2)
$$z\left(\frac{z}{f(z)}\right)' * L_a^{\lambda+1}(z) = z\left(\frac{z}{f(z)} * L_a^{\lambda+1}(z)\right)'.$$

From (1.5) and (2.2) we deduce that

$$z\left(\frac{z}{f(z)} * L_a^{\lambda+1}(z)\right)' = a\frac{z}{f(z)} * L_a^{\lambda}(z) - a\frac{z}{f(z)} * L_a^{\lambda+1}(z),$$

or

(2.3)
$$z\left(\frac{z}{G(z)}\right)' + a\left(\frac{z}{G(z)}\right) = a\frac{z}{f(z)} * L_a^{\lambda}(z).$$

Let us define

$$p(z) = \left(\frac{z}{G(z)}\right)^2 G'(z) := 1 + d_2 z^2 + \cdots$$

Then p(z) is analytic in U, with p(0) = 1 and p'(0) = 0. Combining (2.1) with (2.3), one can obtain

(2.4)
$$p(z) = (1+a)\frac{z}{G(z)} - a\frac{z}{f(z)} * L_a^{\lambda}(z).$$

By differentiating p(z) we get that

(2.5)
$$zp'(z) = (1+a)z\left(\frac{z}{G(z)}\right)' - az\left(\frac{z}{f(z)}\right)' * L_a^{\lambda}(z).$$

In view of (2.3), (2.4) and (2.5), we obtain

$$\begin{aligned} ap(z) + zp'(z) &= a(1+a)\frac{z}{G(z)} - a^2 \frac{z}{f(z)} * L_a^{\lambda}(z) + \\ &+ (1+a)z \left(\frac{z}{G(z)}\right)' - az \left(\frac{z}{f(z)}\right)' * L_a^{\lambda}(z) \\ &= a(1+a)\frac{z}{f(z)} * L_a^{\lambda}(z) - a^2 \frac{z}{f(z)} * L_a^{\lambda}(z) - a \left(\frac{z}{f(z)}\right)' * L_a^{\lambda}(z) \\ &= a \frac{z}{f(z)} * L_a^{\lambda}(z) - a \left[\frac{z}{f(z)} - \left(\frac{z}{f(z)}\right)^2 f'(z)\right] * L_a^{\lambda}(z) \\ &= a \left(\frac{z}{f(z)}\right)^2 f'(z) * L_a^{\lambda}(z). \end{aligned}$$

Hence

(2.6)
$$p(z) + \frac{1}{a}zp'(z) = \left(\frac{z}{f(z)}\right)^2 f'(z) * L_a^{\lambda}(z).$$

Since $\operatorname{Re}(L_a^{\lambda}(z)) \geq \frac{1}{2}$, by Herglotz theorem we can write

$$L_a^{\lambda}(z) = \int_{|x|=1} \frac{1}{1-xz} \mathrm{d}\mu(x),$$

where $\mu(x)$ is a probability measure on the unit disc |x| = 1, that is,

$$\int_{|x|=1} \mathrm{d}\mu(x) = 1.$$

From $f(z) \in V(m)$ we have

$$\left(\frac{z}{f(z)}\right)^2 f'(z) \prec 1 + mz^2 := h(z).$$

Since h(z) is convex in U, from the well known result [3] and (2.6) we obtain

$$p(z) + \frac{1}{a}zp'(z) \prec \int_{|x|=1} h(tz)\mathrm{d}\mu(t) \prec h(z).$$

It now follows by Lemma 1.1 that

$$p(z) \prec \psi(z) = \frac{a}{z^a} \int_0^z t^{a-1} (1+mt^2) dt.$$

Therefore,

$$p(z) \prec 1 + \frac{ma}{a+2}z^2.$$

Also, it is easy to see that the second part is a consequence of Lemma 1.5.

We note that by considering more restrictions on a, λ we can improve the above result. It is well-known that for a > 0 and $\lambda \in \{0, 1, 2, 3, ...\}$ the function $L_a^{\lambda}(z)$ is convex. So, we can get the following result.

THEOREM 2.2. Let a > 0, $\lambda \in \{0, 1, 2, 3, ...\}$ and $f \in V(m)$ satisfy the condition

$$\left(\frac{z}{f(z)}\right) * L_a^{\lambda+1}(z) \neq 0, \quad \forall z \in U,$$

and G be the transform defined by

$$G(z)=\frac{z}{(z/f(z))*L_a^{\lambda+1}(z)},\quad z\in U.$$

Further, let c be a nonnegative real number such that $c = \left| \left(\frac{a}{a+1} \right)^{\lambda+1} \frac{f''(0)}{2} \right| \le 1.$

Then we have the following (1) $G \in V\left(m\left(\frac{a}{a+2}\right)^{\lambda+1}\right)$. The result is sharp especially when $|f''(0)/2| \le 1$ 1 - m.

(2)
$$G \in S^*$$
, whenever $0 < m \le \left(\frac{a+2}{a}\right)^{\lambda+1} \left(\frac{\sqrt{2-c^2-c}}{2}\right)$.

Proof. Let us define

$$p(z) = \left(\frac{z}{G(z)}\right)^2 G'(z),$$

then p(z) is analytic in U, with p(0) = 1 and p'(0) = 0. Using the same method as on Theorem 2.1 we get

(2.7)
$$p(z) + \frac{1}{a}zp'(z) = \left(\frac{z}{f(z)}\right)^2 f'(z) * L_a^{\lambda}(z).$$

But $1 + mz^2$ and $L_a^{\lambda}(z)$ are convex, and

$$\left(\frac{z}{f(z)}\right)^2 f'(z) \prec 1 + mz^2.$$

Using Lemma 1.2, (2.7) yields

$$p(z) + \frac{1}{a}zp'(z) \prec 1 + m\left(\frac{a}{a+2}\right)^{\lambda}z^{2}.$$

It follows from Lemma 1.1 that

$$p(z) \prec 1 + m\left(\frac{a}{a+2}\right)^{\lambda+1} z^2$$

Therefore,

(2.8)
$$|p(z) - 1| \le \left(\frac{a}{a+2}\right)^{\lambda+1} |z|^2.$$

To prove the sharpness we follow the same way as in [6]. Let the function $f \in V(m)$ be defined by

$$f(z) = \frac{z}{1 - a_2 z + m z^2}, \quad z \in U,$$

where $a_2 = f''(0)/2$ and $|a_2| \le 1 - m$, so that $1 - a_2 z + m z^2 \ne 0$ for all $z \in U$. Moreover, since $\lambda \ge 0$, a > 0, it follows that $(a+2)^{\lambda+1} > (a+1)^{\lambda+1} > (a)^{\lambda+1}$ and, therefore

$$1 - a_2 \left(\frac{a}{a+2}\right)^{\lambda+1} z + m \left(\frac{a}{a+2}\right)^{\lambda+1} z^2 | \neq 0,$$

for all $z \in U$, provided $|a_2| \leq 1-m$. Now, from the definition of G(z) we obtain

$$G(z) = \frac{z}{1 - a_2 \left(\frac{a}{a+2}\right)^{\lambda+1} z + m \left(\frac{a}{a+2}\right)^{\lambda+1} z^2},$$

which is analytic on U, $\frac{z}{G(z)} \neq 0$ on U and $\left(\frac{z}{G(z)}\right)^2 G'(z) - 1 - m \left(\frac{a}{a+2}\right)^{\lambda+1}$. This means that $G \in V\left(m \left(\frac{a}{a+2}\right)^{\lambda+1}\right)$. Also, the second part is a easy consequence of Lemma 1.5. Hence the proof is ended. \Box

Using Lemma 1.6, Theorem 2.1 can be generalized as follows.

THEOREM 2.3. Let $n \ge 2$, $f(z) = z + a_{n+1}z^{n+1} + \cdots \in V(m)$. Suppose $a > 0, \ \lambda \ge 0$ and

$$\left(\frac{z}{f(z)}\right) * L_a^{\lambda+1}(z) \neq 0, \quad \forall z \in U,$$

and G be the transform defined by

$$G(z) = \frac{z}{(z/f(z)) * L_a^{\lambda+1}(z)}, \quad z \in U.$$

Then we have the following

(1) $G \in V\left(\frac{am}{a+n}\right)$. (2) $G \in S^*$, whenever $0 < m \le \frac{(a+n)(n-1)}{a\sqrt{(n-1)^2}+1}$. *Proof.* Let us define

$$p(z) = \left(\frac{z}{G(z)}\right)^2 G'(z) = 1 - a_{n+1} \left(\frac{a}{a+2}\right)^{\lambda} z^n + \cdots$$

Then p(z) is analytic in U, with p(0) = 1 and $p'(0) = \cdots = p^{(n-1)}(0) = 0$. Using the same method as on Theorem 2.1 we get

(2.9)
$$p(z) + \frac{1}{a}zp'(z) = \left(\frac{z}{f(z)}\right)^2 f'(z) * L_a^{\lambda}(z).$$

Hence the result follows as Theorem 2.1. \Box

Finally, using the similar methods as in Theorems 2.2 and 2.3 we get the following result and we omit the details.

THEOREM 2.4. Let $n \geq 2$, $f(z) = z + a_{n+1}z^{n+1} + \cdots \in V(m)$. Also suppose a > 0, $\lambda \geq 0$ and

$$\left(\frac{z}{f(z)}\right) * L_a^{\lambda+1}(z) \neq 0, \quad \forall z \in U,$$

and G be the transform defined by

$$G(z) = \frac{z}{(z/f(z)) * L_a^{\lambda+1}(z)}, \quad z \in U.$$

Then we have the following

(1)
$$G \in V\left(m\left(\frac{a}{a+n}\right)^{\lambda+1}\right);$$

(2) $G \in S^*$, whenever $0 < m \le \left(\frac{(a+n)}{a}\right)^{\lambda+1} \frac{(n-1)}{\sqrt{(n-1)^2+1}}$

REFERENCES

- D.J. Hallenbeck and St. Ruscheweyh, Subordination by convex functions. Proc. Amer. Math. Soc. 52 (1975), 191–195.
- [2] Y. Komatu, On analytical prolongation of a family of operators. Math. (Cluj) 32 (1990), 55, 141–145.
- [3] G.M. Goluzin, On the majorization principle function theory. Dokl. Akad. Nauk SSSR 42 (1935), 647–650. (in Russian)
- [4] S. Ozaki and M. Nunokawa, The Schwarzian derivative and univalent functions. Proc. Amer. Math. Soc. 33 (1972), 392–394.
- [5] M. Obradovic, S. Ponnusamy, V. Singh and P. Vasundhra, Univalency, starlikeness and convexity applied to certain classes of rational function. Analysis (Munich) 159 (2002), 3, 225–242.
- [6] M. Obradovic and S. Ponnusamy, Univalence and starlikeness of certain transforms defined by convolution of analytic functions. J. Math. Anal. 336 (2007), 758–767.

- [7] S.S. Miller and P.T. Mocanu, *Differential Subordinations. Theory and Applications*. Marcel Dekker Inc., New York–Basel, 2000.
- [8] S. Ponnusamy and P. Sahoo, Geometric properties of certain linear integral transforms. Bull. Belg. Math. Soc. Simon. Stevin 12 (2005), 95–108.
- [9] St. Ruscheweyh and J. Stankiewicz, Subordination under convex univalent functions. Bull. Polish Acad. Sci. Math. 33 (1985), 499–502.
- [10] St. Ruscheweyh, Convolutions in geometric function theory. Les Presses de l'Univérsite de Montreal, 1982.

Received 5 August 2009

Semnan University Department of Mathematics Faculty of Science, Semnan, Iran Research Group of Nonlinear Analysis and Applications (RGNAA), Semnan, Iran Centre of Excellence in Nonlinear Analysis and Applications (CENAA), Semnan University, Iran a.ebadian@urmia.ac.ir

> Urmia University Department of Mathematics Faculty of Science, Urmia, Iran raghalary@yahoo.com madjid.eshaghi@gmail.com

> > and

University Kebangsaan Malaysia School of Mathematical Sciences Faculty of Science and Technology Bangi, 43600, Selangor D. Ehsan, Malaysia maslina@ukm.my